1 Congestion control

Figure 1: Example network

: A(_Iucmer an ex.amp]e_ network consisting of four routers A, B, C, and D presented in Figure
: : are of capacity 1 Mb/s. Several types of flows (Fy, F», Fy, Fj) take different routes
shown in the figure and each source can transmit at a speed of 1 Mb/ls, There is 1 flow of :
F; and F», 2 flows of type F3 and 4 flows of type Fj. Assume that all the flows are UDP Hilzﬁ
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Figure 1: Example network

presented in Figure 1. Link capacity is indicated in the figure.
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